
 

BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2011 
इंटरमीडिएट परीऺा - 2011 

(ANNUAL / वार्षिक)  

ACCOUNTANCY  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 100 

SECTION-A 

I. निम्िलऱखित प्रश्ि संख्या 1 से 25 में चार र्वकल्प हैं, जििमें से केवऱ एक ही सही 
उत्तर है। सही र्वकल्प का चिुाव करें एवं उत्तर पत्र में चचजनित करें  

 

1. एक गैय-व्मणऩणरयक सॊस्थण के मरए भणनदेम कण बगुतणन है 

(a) ऩूॉजीगत व्मम 

(b) आमगत व्मम  

(c) आम 

(d) इनभें से कोई नह ॊ 

 

2. एक क्रफ द्वणयण प्रणप्त आजीवन सदस्मतण शलु्क को ददखणमण जणतण है।  

(a) आम-व्मम खणते भें 

(b) आर्थिक र्िट्ठण भें 

(c) प्रणप्प्त औय बगुतणन खणते भें 

(d) इनभें से कोई नह ॊ 
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3. िणर ूखणतण है 

(a) व्मप्क्तगत खणतण  

(b) वणस्तववक खणतण  

(c) नणभभणत्र खणतण  

(d) इनभें से कोई नह ॊ 

 

4. पभि के मरए, सणझदेणय के आहयर् ऩय ब्मणज है 

(a) व्मम  

(b) आम 

(c) हणनन 

(d) इनभें से कोई नह ॊ  

 

5. उतयती िढ़ती ववर्ध भें सणझदेणय की ऩूॉजी ऩय ब्मणज नणभे मरखण जणतण है। 

(a) सणझदेणयों के ऩूॉजी खणते भें  

(b) रणब-हणनन खणतण भें  

(c) ब्मणज खणते भें 

(d) इनभें से कोई नह ॊ 

 

6. सणझदेणय  पभि के ऩनुगिठन ऩय सम्ऩविमों के भलू्म भें वदृ्र्ध कण ऩरयर्णभ है 

(a) वतिभणन सणझदेणयों को रणब  

(b) वतिभणन सणझदेणयों को हणनन 

(c) वतिभणन सणझदेणयों को न तो रणब मण न तो हणनन  
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(d) इनभें से कोई नह ॊ  

7. ऩनुभूिल्मणॊकन खणते कण शषे ऩयुणने सणझदेणयों के ऩूॉजी खणतों भें हस्तणन्तरयत ककमण जणतण 
है 

(a) ऩयुणने रणब-हणनन अनऩुणत भें  

(b) नमे रणब-हणनन अनऩुणत भें 

(c) सभणन अनऩुणत भें 

(d) इनभें से कोई नह ॊ 

 

8. A, B औय C 5 : 3 : 2 के अनऩुणत भें रणबों औय हणननमों कण ववबणजन कयते हुए 
सणझदेणय हैं। उन्होंने बववष्म के रणबों को फयणफय-फयणफय फणॉटने कण ननर्िम ककमण। A, B 
औय C कण वतिभणन अनऩुणत होगण 

(a) 3 : 2 : 1  

(b) 2 : 2 : 1  

(c) 5 : 2 : 2  

(d) इनभें से कोई नह ॊ 

 

9. सणभणन्म रणब ऩय वणस्तववक रणब कण आर्धक्म कहरणतण है 

(a) अर्धरणब  

(b) ननप्चित रणब  

(c) असणभणन्म रणब  

(d) इनभें से कोई नह ॊ  

 

10. जफ नमण सणझदेणय ख्मणनत की यकभ के मरए नकद देतण है, तो पभि की फदहमों भें 
उस यकभ को डबेफट कयनण िणदहए 
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(a) ख्मणनत खणतण भें 

(b) योकड़ खणतण भें 

(c) नमे सणझदेणय के ऩूॉजी खणतण भें  

(d) इनभें से कोई नह ॊ 

 

11. योदहत औय योहन 3 : 2 के अनऩुणत भें रणब फणॉटते हैं। योदहर्ी को सणझदेणय के रूऩ 
भें अॊश ददमण गमण थण जो 1/5 बणग ऩणते हैं। मदद योदहर्ी 3/20 योदहत से रे औय योहन 
से 1/20 रे तो नमण रणब ववबणजन अनऩुणत होगण 

(a) 9 : 7 : 4  

(b) 8 : 8 : 4 

(c) 6 : 10 : 4  

(d) इनभें से कोई नह ॊ 

 

12. ककसी सणझदेणय के प्रवेश के सभम ऩयुणनी पभि के आर्थिक र्िट्ठण भें प्रदमशित 
अववबणप्जत रणब को ऩूॊजी खणतण भें हस्तणन्तरयत ककमण जणतण है। 

(a) ऩयुणने सणझदेणयों को ऩयुणने रणब-हणनन ववबणजन अनऩुणत भें 

(b) ऩयुणने सणझदेणयों को नमे रणब-हणनन ववबणजन अनऩुणत भें  

(c) सबी सणझदेणयों को नमे रणब-हणनन ववबणजन अनऩुणत भें 

(d) इनभें से कोई नह ॊ 

 

13. स्थणमी सम्ऩविमों के भलू्म भें कभी कहरणती है। 

(a) ह्रणस  

(b) हणनन  

(c) रणब 
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(d) व्मम 

14. एक नमे सणझदेणय के प्रवेश ऩय, सम्ऩविमों के भलू्म भें कभी को डबेफट ककमण जणतण 
है।  

(a) रणब-हणनन सभणमोजन खणतण भें  

(b) सम्ऩवि खणतण भें  

(c) ऩयुणने सणझदेणयों के ऩूॉजी खणते भें  

(d) इनभें से कोई नह ॊ 
 

15. एक सणझदेणय की भतृ्म ुकी दशण भें, सॊर्ित रणब व हणननमणॉ सणझदेणयों द्वणयण फणॉट  
जणती हैं उनके 

(a) ऩयुणने रणब-हणनन ववबणजन अनऩुणत भें  

(b) नमे रणब-हणनन ववबणजन अनऩुणत भें  

(c) ऩूॉजी अनऩुणत भें 

(d) इनभें से कोई नह ॊ  
 

16. पभि के ववघटन ऩय फैंक अर्धववकषि को हस्तणन्तरयत कयेंगे 

(a) फैंक खणते भें 

(b) वसरू  खणत ेभें 

(c) सणझदेणयों के ऩूॉजी खणते भें  

(d) इनभें से कोई नह ॊ  
 

17. कम्ऩनी अर्धननमभ के प्रणवधणनों के अॊतगित एक कम्ऩनी ननगिमभत कय सकती है 

(a) केवर सभतण अॊश  

(b) सभतण अॊश औय ऩवूणिर्धकणय अॊश  

(c) केवर ऩवूणिर्धकणय अॊश 

bsebresult.in



 

(d) इनभें से कोई नह ॊ 

18. अॊश ऩूॉजी की वणस्तववक यणमश है 

(a) अर्धकृत ऩूॉजी  

(b) ननगिमभत ऩूॉजी  

(c) अमबदि ऩूॉजी  

(d) िकुतण ऩूॉजी 
 

19. जब्त ककमे गमे अॊशों के ऩनु् ननगिभन के ऩचिणत ्अॊश हयर् खणते के शषे को 
हस्तणन्तरयत कय ददमण जणतण है  

(a) रणब-हणनन खणतण भें 

(b) ऩूॉजी सॊिम खणतण भें 

(c) सणभणन्म सॊिम खणतण भें  

(d) इनभें से कोई नह ॊ 
 

20. ऋर्-ऩत्रधणय  होते हैं 

(a) कम्ऩनी के ग्रणहक  

(b) कम्ऩनी के भणमरक  

(c) कम्ऩनी के रेनदणय 

(d) इनभें से कोई नह ॊ 
 

21. सेफी के भणगिदशिक के अनसुणय शोधन के ऩवूि ऋर्ऩत्रों की यणमश के ककतने प्रनतशत 
से ऋर्ऩत्र शोधन कोष कण सजृन कयनण होगण? 

(a) 40%  

(b) 50% 

(c) 60% 
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(d) 70% 

22. रणब-हणनन खणते के डबेफट शषे को दशणिमण जणतण है।  

(a) र्िट्ठे के सम्ऩवि बणग भें 

(b) र्िट्ठे के दणनमत्व बणग भें 

(c) सॊिम एवॊ अनतयेक शीषिक के अॊदय  

(d) इनभें से कोई नह ॊ 

 

23. कम्ऩनी की वणवषिक प्रनतवेदन को ननगिमभत ककमण जणतण है 

(a) सॊिणरकों के मरए 

(b) अॊकेऺकों के मरए 

(c) अॊशधणरयमों के मरए  

(d) प्रफॊधन के मरए 

 

24. आदशि िणर ूअनऩुणत है 

(a) 2 : 1  

(b) 1 : 2  

(c) 0.5 : 2  

(d) इनभें से कोई नह ॊ 

 

25. ननम्नमरखखत भें कौन योकड़ फदहवणिह नह ॊ है? 

(a) रेनदणयों भें वदृ्र्ध 

(b) स्कन्ध भें वदृ्र्ध  

(c) ऩवूिदि व्ममों भें वदृ्र्ध 
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(d) इनभें से कोई नह ॊ 

II. ननम्नमरखखत प्रचन सॊख्मण 26 से 30 भें दो कथन ददमे गमे हैं (कथन I के फणद 
कथन II)। आऩ इन कथनों को ध्मणन से ऩढ़ें तथण ददए गए ववकल्ऩों भें से सह  ववकल्ऩ 
को उिय तणमरकण भें र्िप्ननत कयें 

(a) दोनों कथन सह  हैं तथण कथन II कथन । को सह  व्मणख्मण है 

(b) दोनों कथन सह  हैं ऩयॊतु कथन II कथन I की सह  व्मणख्मण नह ॊ है।  

(c) कथन I सह  है, ऩयॊतु कथन II गरत है  

(d) कथन I गरत है, ऩयॊतु कथन II सह  है 
 

26. कथन-I : बणयतीम कॊ ऩनी अर्धननमभ, 1956 के अनसुणय रेखणॊकन की नकद प्रर्णर  
भणन्म है।  
कथन-II : बणयतीम कॊ ऩनी अर्धननमभ, 1956 के अनसुणय रेखणॊकन को उऩणजिन प्रर्णर  
भणन्म है।  
 

27. कथन-I : रेखणॊकन िक्र एक वविीम वषि अथणित ्12 भह ने कण होतण है। 

कथन-II : इसकी ऩनुयणववृि प्रत्मेक वषि होती है। 
 

28. कथन-I : स्थणमी ऩरयसॊऩविमणॉ वे ऩरयसॊऩविमणॉ हैं प्जन्हें रॊफी अवर्ध के मरए यखण 
जणतण है। 

कथन-II : िणर ूऩरयसॊऩविमणॉ वे ऩरयसॊऩविमणॉ हैं प्जन्हें अल्ऩ अवर्ध के मरए यखण जणतण है।  
 

29. कथन-I : एक कम्ऩनी फणजणय भें अऩने अॊशों को खय द सकती है। 

कथन-II : अॊशों कण क्रम ऩणषिद सीभण ननमभ द्वणयण अर्धकृत होनण िणदहए।  
 

30. कथन-I : योकड़ प्रवणह वववयर् योकड़ के स्रोतों तथण प्रमोगों को प्रदमशित कयतण है। 
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कथन- II : योकड़ प्रवणह वववयर् रेखणॊकन प्रभणऩ-3 (सॊशोर्धत) के आधणय ऩय फनणमण 
जणतण है। 

III. ननम्नमरखखत प्रचन सॊख्मण 31 से 34 तक भें दो कॉरभ ददमे गमे हैं। कॉरभ I भें 
िणय प्रचन हैं, प्जनके उिय को कॉरभ II भें ददमे गमे िणय ववकल्ऩ (a), (b), (c) तथण 
(d) भें से िनुनण है 

कॉरभ-I      कॉरभ-II 

31. कम्ऩनी कण प्ररेख    (a) ऩवूणिर्धकणय व सभतण 

32. अॊश ऩूॉजी     (b) ननप्चित 

33. अॊश के बेद     (c) अर्धकृत ऩूॉजी 

34. ऩवूणिर्धकणय रणबणॊश की दय  (d) ऩणषिद सीभण ननमभ 
 

III. ननम्नमरखखत प्रचन सॊख्मण 35 के मरए एक उद्धयर् ददमण गमण है। ऩहरे प्रदि 
उद्धयर् को ध्मणन से ऩढ़ें, तत्ऩचिणत ्ददमे गमे तीन प्रचनों कण सह  उिय ददमे गमे 
ववकल्ऩ भें से िनुें। मे तीनों प्रचन दो-दो अॊक के हैं- 
 

35. बणयतीम सणझदेणय  अर्धननमभ, 1932 की धणयण 39 के अनसुणय सबी सणझदेणयों के 
भध्म सणझदेणय  के ववघटन को पभि कण ववघटन कहते हैं। इसकण अथि है कक अर्धननमभ 
सबी सणझदेणयों के भध्म औय कुछ सणझदेणयों के भध्म सम्फन्ध ववच्छेद भें अॊतय कयतण है 
तथण सबी सणझदेणयों के फीि सम्फन्धों के सभणऩन को सणझदेणय  पभि कण ववघटन कहण 
जणतण है। उससे पभि कण अप्स्तत्व सभणप्त हो जणतण है तथण ववघटन के ऩचिणत ्पभि को 
रेखण ऩसु्तकों को फन्द कयने की कक्रमणओॊ के अनतरयक्त अन्म कोई कणमि नह ॊ ककमण 
जणतण है। पभि के ववघटन के फणद सबी सम्ऩविमों को फेिण जणतण है औय सबी दणनमत्वों 
कण बगुतणन कय ददमण जणतण है तथण सबी सणझदेणयों के दणवों कण बगुतणन कय ददमण जणतण 
है। 

1. पभि के ववघटन की दशण भें 

(a) पभि कण व्मवसणम फॊद हो जणतण है। 

(b) पभि कण व्मवसणम फॊद नह ॊ होतण है।  
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(c) पभि कण व्मवसणम स्थर्गत हो जणतण है 

(d) इनभें से कोई नह ॊ 

II. बणयतीम सणझदेणय  अर्धननमभ, 1932 की कौन-सी धणयण पभि के ववघटन से सॊफॊर्धत 
है?  

(a) धणयण 37  

(b) धणयण 38 

(c) धणयण 39  

(d) धणयण 40 

 

III. ववमबन्न सम्ऩनतमों के ववक्रम से प्रणप्त ववक्रम की यणमश कण सविप्रथभ बगुतणन कयेंगे- 

(a) रेनदणय कण दणनमत्व 

(b) सणझदेणय कण ऋर् 

(c) सणझदेणयों के दणव े

(d) इनभें से कोई नह ॊ 

 

SECTION - B 

PART - A 

 

प्रचन सॊख्मण 1 से 10 तक रघ ुउिय म कोदट के हैं। प्रत्मेक प्रचन के मरए तीन अॊक 
ननधणिरयत है।  

 

1. आगभ एवॊ शोधन खणते के भखु्म ववशषेतणएॉ फतणइए। 

2. सणझदेणय  सॊरेख क्मण है?  
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3. यणजेन्र औय यणधे सणझदेणय हैं औय 1 अप्ररै, 2009 को उनकी ऩूॉजी क्रभश: 40,000 
रु. औय 60,000 रु० थी। यणजेन्र ने 1.11.2009 को 5,000 रु० तथण 15.2.2010 को 
6,000 रु० की अनतरयक्त ऩूॉजी रगणमी। ऩूॉजी ऩय ब्मणज की दय 6% भणनते हुए सणझदेणयों 
को देम ऩूॉजी ऩय ब्मणज की गर्नण कीप्जए। 

4. A, B औय C सणझदेणय हैं जो रणबों को 3 : 2 : 1 के अनऩुणत भें फणॉटते हैं अप्ररै, 
2010 के प्रबणव से रणबों को फयणफय अनऩुणत भें ववबणप्जत कयने के मरए सहभत होते हैं। 
आऩको त्मणग अनऩुणत तथण रणब-हणनन अनऩुणत की गर्नण कयनी है। 
 

5. एक व्मवसणम द्वणयण वऩछरे ऩणॉि वषों भें अप्जित रणब एवॊ हणनन ननम्न प्रकणय थे- 

12,000 रु० (रणब), 14,000 रु० (रणब), 16,000 रु० (रणब), 20,000 रु० (रणब) औय 
2,000 रु० (हणनन) । 

ख्मणनत कण भलू्म ननकणरें मदद वह वऩछरे ऩणॉि वषों के औसत रणब के दगुुनण ऩय हो। 
 

6. ननम्न ऩरयप्स्थनतमों भें यप्चभ औय बफन्द ुके वसरू  व्ममों कण ककस प्रकणय रेखण कयेंगे? 

(i) वसरू  व्मम की यणमश 1,00,000 रु०  

(ii) वसरू  आम की यणमश 30,000 रु. कण बगुतणन यप्चभ ने ककमण है। 

(iii) ववघटन की प्रकक्रमण को ऩयूण कयने के मरए यप्चभ ने वसरू  व्मम कण वहन ककमण है 
प्जसके मरए उसे ऩणरयश्रमभक 70,000 रू ददमण जणमेगण। यप्चभ द्वणयण वणस्तववक व्मम 
1,20,000 रु० ककमण गमण थण। 
 

7. कम्ऩनी से आऩ क्मण सभझते हैं? 
 

8. सोन ूमर. के िणर ूअनऩुणत 3 : 1  है। मदद इसकण यहनतमण 40,000 रु. औय कुर 
िणर ू दणनमत्व 75,000 रू० हैं, तो त्वरयत अनऩुणत ऻणत कयें।  
 

9. ऋर्-ऩत्र क्मण है ?  
 

10. ववजम मर० की िणर ूसम्ऩविमों तथण िणर ूदणनमत्वों की प्स्थनत ननम्नमरखखत है- 
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वववयर् 2009 
रु 

2010 
रु 

रेनदणय  20,000 15,000 
देनदणय 30,000 20,000  
प्रणप्म बफर 18,000 29,000 
ऩवूिदि व्मम 2,000 5,000 
वषि के दौयणन कॊ ऩनी को 6,000 रु. की हणनन हुई। सॊिणरन कक्रमणओॊ से योकड़ की गर्नण 
कीप्जए। 

 

PART - B 

प्रश्ि संख्या 11 से 15 तक दीर्ि उत्तरीय कोहट के हैं। प्रत्येक प्रश्ि के लऱए 6 अंक 
निर्ािररत है। सभी प्रश्िों के उत्तर दें : 

 

II. A, B औय C एक पभि भें सणझदेणय हैं जो रणब-हणनन को 3 : 3 : 2 के अनऩुणत भें 
ववबणप्जत कयते हैं। 31 भणिि 2010 को उनकण आर्थिक र्िट्ठण ननम्न प्रकणय थण- 

 दानयत्व रकम रु॰ संपर्त्तया ं रकम रु॰ 

रेनदणय 73,000 फैंक भें योकड़ 25,600 

ऩूॉजी खणते :  देनदणय             90,000  

       A      50,000  र्टाया : प्रणवधणन    16,000 74,000 

       B      50,000  यहनतमण  50,000 

       C      36,000 1,36,000 बवन 60,000 

 2,09,600  2,09,600 

 

इस नतर्थ को उन्होंने ननर्िम मरमण कक बववष्म भें रणब भें C को 1/5 दहस्सण मभरेगण। 
उन्होंने मह बी ननर्िम ककमण कक बवन कण भलू्मणॊकन 80,000 रु० ककमण जणए, यहनतमण 
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को 6,000 रु० से कभ ककमण जणए औय सॊददग्ध ऋर्ों के मरए प्रणवधणन को 4,000 रु० 
से कभ ककमण जणए।  

सम्ऩविमों के ऩनुभूिल्मणॊकन के सॊफॊध भें पभि की ऩसु्तकों भें योजनणभिण प्रववप्ष्टमणॉ 
कीप्जए औय ऩनुभूिल्मणॊकन खणतण तैमणय कीप्जए। 

अथवण 

ख्मणनत से क्मण आशम है ? इसकी गर्नण ककस प्रकणय की जणती है ?  

 

12 . ननम्नमरखखत सिूनणओॊ के आधणय ऩय 31 ददसॊफय, 2009 को सभणप्त होने वणरे 
वषि कण आम एवॊ व्मम खणतण फनणइए 

 
अथवण 

प्रणप्प्त औय बगुतणन खणतण क्मण है? मह आम-व्मम खणतण से ककस प्रकणय मबन्न है?  
 

13. A औय B कण ननम्नमरखखत र्िट्ठण है जो रणब-हणनन भें फयणफय के सणझदेणय हैं- 
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उन्होंने पभि के ववघटन कण ननर्िम मरमण। सम्ऩविमों से ननम्नणॊककत वसरू  हुई- 

भशीनय  ऩय उसके ऩसु्तकीम भलू्म से 20% कभ, प्रणण्ट ऩय उसके ऩसु्तकीम भलू्म से 
10% कभ देनदणय ऩय 2,000 रु०, रेनदणयों को 10% की कटौती ऩय बगुतणन ककमण 
गमण। ववघटन के सॊफॊध भें आवचमक खणते मह भणनकय खोमरए कक ववघटन व्मम 500 
रु० है। अथवण, सणझदेणय  पभि कण ववघटन ककन ऩरयप्स्थनतमों भें हो सकतण है ? 

 

14. सेतु मर० कण ऩॊजीमन 2,00,000 रुऩमे की ऩूॉजी के सणथ हुआ जो कक प्रत्मेक 10 
रु० वणरे 20,000 सभतण अॊशों भें ववबणप्जत है। उसने जनतण को सभस्त अॊश सभभलू्म 
ऩय ननगिमभत ककमे प्जन ऩय प्रनत अॊश 2 रु० आवेदन ऩय 3 रु० आवॊटन ऩय 3 रु प्रथभ 
मणिनण ऩय तथण 2 रु० अॊनतभ मणिनण ऩय देम थे। सबी अॊशों को जनतण द्वणयण क्रम कय 
मरमण गमण औय मथणसभम बगुतणन प्रणप्त हो गमे।   जनिर के आवचमक रेखे कीप्जए।

 

अथवण 

वविीम वववयर् की सीभणओॊ को फतणइए। 

15. ननम्नमरखखत सॊिणरन कक्रमणओॊ से आऩको योकड़ प्रवणह की गर्नण कयनी है- 
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अथवण 

एक कम्ऩनी की िणर ूसम्ऩविमणॉ रू. 15,00,000 है। इसकण िणर ूअनऩुणत 3:1 तथण 
तयरतण अनऩुणत 1.25 : 1 हैं। इसकी िणर ूदेमतण, तयर सम्ऩविमणॉ तथण स्टॉक को 
गर्नण कीप्जए। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2011 

इंटरमीडिएट परीऺा - 2011 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

SECTION - A 

1. In the following Questions Nos. 1 to 25 there are four options of which only one is 

correct. You have to choose the correct option and mark in the answer sheet. 

1. In a non-profit organisation the payment of honorarium is 

(a) Capital expenditure 

(b) Revenue expenditure 

(c) Income 

(d) None of these 

 

2. Receipt from life membership fee of a club is to be shown in 

(a) Income expenditure A/c  

(b) Balance sheet 

(c) Receipt and payment A/c  

(d) None of these 

 

3. Current account is 

(a) Personal account 

(b) Real account 

(c) Nominal account 

(d) None of these  
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4. For a firm interest on partners drawing is 

(a) Expenditure 

(b) Income  

(c) Loss 

(d) None of these 

 

5. In fluctuating method interest on partners capital is debited to (a) Partner capital A/c 

(b) Profit loss A/c 

(c) Interest A/c 

(d) None of these 

 

6. In reconstruction of partnership firm the increasement of value in assets result is 

(a) Existing partners profit  

(b) Existing partners loss 

(c) No profit no loss to existing partners  

(d) None of these  

 

7. Balance of revaluation A/c of old partners capital A/c transferred to 

(a) Old profit loss ratio 

(b) New profit loss ratio 

(c) Equal ratio 

(d) None of these  

 

8. A, B and C are partners divided their profit and loss in 5: 3:2 ratio. They decided to 

divide profit in equal in future. What is the new ratio of A, B and C 

(a) 3:2:1  

(b) 2:2:1  

(c) 5:2:2 

(d) None of these 
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9. Excess of real profit on general profit is called 

(a) Surplus 

(b) Definite profit 

(c) Abnormal profit 

(d) None  

 

10. When the new partner comes and give, cash for goodwill then the amount debited to 

the account is 

(a) In goodwill A/c 

(b) Cash A/c 

(c) New partner capital A/c 

(d) None of these 

 

11. Rohit and Rohan distributed profit in 3:2 ratio. Rohini was given a share as partner 

and received of 
1

5
 part. If Rohan take 

3

20
 from. Rohit and from Rohan 

1

20
 then the new 

profit ratio will be 

(a) 9:7:4  

(b) 8:8:4 

(c) 6: 10:4 

(d) None of these 

 

12. At the time of admission of partner the undistributed profit of a old firm's balance 

sheet capitla A/c transferred to  

(a) Old partners in old profit loss ratio 

(b) Old partners in new profit new profit loss ratio 

(c) All partners in new profit loss ratio 

(d) None 
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13. Decrease in the value of fixed assets called  

(a) Depreciation  

(b) Loss 

(c) Profit 

(d) Expenditure 

 

14. Admission of a new partner time, decreasing in the value of assets debited to 

(a) Profit-losss adjustment A/c  

(b) Assets A/c 

(c) Old partners capital A/c  

(d) None of these  

 

15. In condition of partners death, the distribution of their reserve profit and loss in their 

(a) Old profit-loss distribution ratio 

(b) New profit-loss ratio 

(c) Capital ratio  

(d) None of these 

 

16. At the time of firm's dissolution, Bank overdraft transferred to 

(a) Bank A/c 

(b) Realisation 

(c) Partner's capital A/c 

(d) None of these  

 

17. According to companies provision act, a company can issue 

(a) Only equity share  

(b) Equity and preference shares both 

(c) Only preference share  

(d) Paid capital 
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18. Forfeited shares after Re-issue the balance of forfeited shares A/c transferred to 

(a) Profit-loss A/c 

(b) Capital Reserve A/c 

(c) General reserve A/c  

(d) None of these 

 

19. The real amount of share capital is 

(a) Authorised capital 

(b) Issued-capital 

(c) Paid-up capital 

(d) None of these 

 

20. Debenture holders are  

(a) Customer of company 

(b) Owner of company  

(c) Creditors of company 

(d) None of these 

 

21. According to SEBI how much % of Redemption debenture fund or earned before 

redemption of debenture amount? 

(a) 40% 

(b) 50% 

(c) 60% 

(d) 70% 

 

22. The balance of profit-loss debited to 

(a) In assets side of balance sheet  

(b) Liabilities side of B/S 

(c) Reserve and excess head 

(d) None of these 
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23. The company appraisal is issued for  

(a) organises  

(b) Auditors  

(c) shareholders  

(d) management 

 

24. Ideal current ratio is  

(a) 2:1  

(b) 1:2 

(c) 0.5:2 

(d) None of these 

 

25. In following it is not flow of cash 

(a) Increase in creditors  

(b) Increase in stock 

(c) Increase in prepaid exp. 

(d) None of these 

 

II. In the following question nos. 26 to 30, there are two statements (statement I follows 

statement II). You have to go through these statements carefully and mark your answer 

from the given options in the answer sheet:  

 

26. Consider the following statements: 

Statement-I: According to Indian companies Act 1956, the accounting of cash basis is 

authorised.  

Statement-II: According to Indian companies act, 1956, accrued basis of according is 

authorised. Of these statements: 

(a) Both the statements are correct and statement II is correct explanation of statement I. 

(b) Both the statements are correct, but statement II is not correct explanation of 

statement I.  

(c) Statement I is correct, but statement II is wrong. 

(d) Statement I is wrong, but statement II is correct. 
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27. Consider the following statements:  

Statement-1: Accounting period is for a financial year or 12 months.  

Statement-II: It is revised every year. Of these statements: 

(a) Both the statements are correct and statement II is correct explanation of statement I. 

(b) Both the statements are correct, but statement II is not correct explanation of 

statement I.  

(c) Statement I is correct, but statement II is wrong. 

(d) Statement I is wrong, but statement II is correct.  

 

28. Consider the following statements: 

Statement-I: Fixed assets are that assets which are kept for a long time period. 

Statement-II: Current assets are that assets which are kept for a short time period.  

Of these statements  

(a) Both the statements are correct and statement II is correct explanation of statement I.  

(b) Both the statements are correct, but statement II is not correct explanation of 

statement I. 

(c) Statement I is correct, but statement II is wrong. 

(d) Statement I is wrong, but statement II is correct.  

 

29. Consider the following statements: 

Statement-I: A company can buy its own share in the market.  

Statement-II : Purchase of shares should be authorised with memorandum of association. 

Of these statements:  

(a) Both the statements are correct and statement II is correct explanation of statement I. 

(b) Both the statements are correct, but statement II is not correct explanation of 

statement I. 

(c) Statement I is correct, but statement II is wrong. 

(d) Statement I is wrong, but statement II is correct.  

 

30. Consider the following statements : 

Statement-I: Cash flow statement shows the sources and applications of cash. 
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Statement-II: Cash flow statement is prepared on the basis of AS-3(revised). 

Of these statements: 

(a) Both the statements are correct and statement II is correct explanation of statement I. 

(b) Both the statements are correct, but statement II is not correct explanation of 

statement I. 

(c) Statement I is correct, but statement II is wrong.  

(d) Statement I is wrong, but statement II is correct.  

 

Ill. In the following questions nos. 31 to 34, there are two columns. Column I contains 4 

questions. You have to match the correct options of these questions as (a), (b), (c) and (d) 

from column-II:  

Column-I      Column-II 

31. Document of a company (a) Preference and equity 

32. Share capital   (b) Fixed 

33. Types of shares  (c) Authorised capital 

34. Rate of preference share  (d) Memorandum of association  

 

IV. For the following question no. 35 a paragraph is given. You have to first go through 

that given paragraph carefully and then answer the following three questions by 

indicating correct option. These three questions carry two marks each: 

 

35. According to Indian partnership act, 1932 sec 39, between all the partner dissolution 

of partnership is called dissolution of firm. Its mean this fact differentiate between all the 

partners and some partners relation. Among all the partners ending of the partnership is 

called firm's partnership dissolution. The existence of firm has ended from it and there is 

no work to close the books of the firm. After dissolution of the firm all the assets are sold 

and all liabilities are paid and all the claims of partner are to be paid. 

I. On dissolution of the firm 

(a) End of business of firm  

(b) Not ending of business of firm 

(c) Cancellation of firm bus  

(d) None of these 
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II. According to Indian partnership act 1932, which section is related to dissolution of 

firm 

(a) Sec 37 

(b) Sec 38  

(c) Sec 39 

(d) Sec 40  

 

III. The amount received from various assets firstly paid to 

(a) Liability of creditors 

(b) Loan of partner 

(c) Claims of partners  

(d) None of these 

SECTION - B 

PART - A 

1. Give the advantages of Revenue and Receipt Account.  

2. What is partnership deed? 

3. Rajendra and Radhey are partners and on 1st April, 2009. There capitals were Rs. 

40,000 and Rs. 60,000 simultaneously. Rajendra added additional capital Rs. 5,000 on 

1.11.2009 and Rs. 6,000 on 15.2.2010. Calculate interest on capital of partners assume 

6% rate of interest on capital 6%. 

4. A, B and C are partners who distributed profits in the ratio of 3:2:1. Effective from 1 

April, 2010 they agreed to distribute in equal ratio. You have to calculate sacrifice and 

profit ratio. 

 

5. A business earned profit & losses in 5 yrs. Where ere follows: 

Rs. 12,000 (profit) Rs. 14,000 (profit), Rs. 6,000 (profit), Rs. 20,000 (profit) and Rs. 

20,000 (loss).calculate the value of goodwill if average profit of 5 years in twice. 

 

6. What are the journal entries in Rashmi and Bindu realisation expenses in different 

condition: 

(i) Realisation expenses amount Rs. 1,00,000.  

(ii) Payment of realisation expenses amount by Rashmi Rs. 30,000. 

(iii) Completion of dissolution process Rashmi paid. Realisation expenses for that 

remuneration will be given Rs . 70,000. Real expenses by Rashmi Rs. 1,20,000. 
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7. What do you understand by company? 

8. Sonu Ltd. have current ratio 3: 1. If stock Rs. 40,000 and total current liabilities Rs. 

75,000, then calculated liquid ratio. 

9. What is Debenture? 

10. The status of current assets and current liabilities of Vijay Ltd. is as follows: 

Particulars 2009 Rs. 2010 Rs. 

Creditors  

Debtors 

Bills payable  

Prepaid insurance 

20,000 

30,000 

18,000  

2,000 

15,000  

20,000 

29,000 

5,000 

During the loss of year of company Rs. 6,000. Calculate cash from operating activities. 

PART - B 

11. A, B and C are partner, whose profit and loss distribute in the ratio of 3 :3:2. Balance 

sheet was prepared on 31st March, 2010 was as follows: 

Liabilities Amount Rs. Assets Amount Rs. 

Creditors 

Capital Account: 

A    50,000 

B    50,000 

C    36,000 

73,600 

 

 

 

 

1,36,000 

Cash in Bank 

Debtors 90,000 

Less: Provision  

       16,000 

Stock   

Building 

25,600 

 

 

74,000 

50,000 

60,000 

 2,09,600  2,09,600 

On what date they decided that in future C will get
1

5
 in the share of profit. The also take 

decision that revaluation of building is Rs. 80,000. stock reduced by Rs. 6,000 and 

provision for doubted debts reduced by Rs. 4,000. What are journal entries in the books 

of firm of revalution of assets and prepare revaluation account? 

Or 

What is meant by Goodwill? How it is calculated?  

 

12. Prepare Income and Expenditure Account of 31st December, 2009 year ended on the 

basis of these information: 
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Particulars Amount 

Rs. 

Particulars Amount 

Rs. 

Opening balance : 

Cash in hand 

Cash at Bank 

Subscription : 

2008                         800 

2009                    18,000 

2010                      1,000 

Entrance fees received 

Life membership life 

Income from canteen 

Fund received 

 

2,000 

10,000 

 

 

 

19,800 

2,500 

2,500 

9,400 

2,400 

Office expenses 

Purchased Investment 

Sports expenses 

Salary paid 

Wages paid 

Rent paid 

Purchased 

Closing balance : 

Cash in hand 

Cash at Bank 

2,900 

3,000 

7,400 

2,400 

1,200 

5,000 

9,000 

 

700 

17,000 

 48,600  48,600 

Or 

What is Receipt & Payment A/c ? How it is different from income and expenditure 

Account?  

 

13. Balance sheet of A and B are as follows in which partners are equal in profit and 

loss: 

Particulars Amount 

Rs. 

Particulars Amount 

Rs. 

Capital : 

A                       10,000 

B                         7,000 

Creditor 

A's loan 

 

 

17,000 

3,000 

4,000 

Machinery 

Plant 

Debtor 

Bank 

9,000 

10,000 

2,500 

2,500 

 24,000  24,000 

They decided to dissolve the firm. Realisation of assets are as follows: 20% less than 

book value on machinery, 10% less than book value on plant, Rs. 2000 on debtors, 10% 

creditors payment, realisation expenses, Rs. 500. Prepare necessary ledgers. 

Or 

bsebresult.in



 

In what conditions dissolution of partnership firm?  

 

14. The registration of Setu Ltd. with capital Rs. 2,00,000 which is divided into Rs. 10-

20,000 equity shares. He issued to public all the shares at par which was call Rs. 2 on 

application, Rs. 3 on allotment, Rs. 3 on first call and Rs. 2 on final call. All the shares 

are purchased by the public and all the payments received at the time write the necessary 

journal entries.  

Or 

Explain the limitation of financial statements. 

 

15. Calculate cash flow from operating activities: 

Particulars 31st March, 2009 Rs. 31st March, 2010 Rs. 

Balance of profit & loss A/c 

Debtor 

Bills receivable 

General Reserve 

Dividend fund 

Dividend fund outstanding salary 

Prepaid wages 

Goodwill 

60,000 

87,000 

62,000 

2,02,000 

78,000 

30,000 

 

5,000 

80,000 

65,000 

40,000 

1,03,000 

2,37,000 

1,00,000 

12,000 

 

7,000 

70,000 

Or 

Current assets of a company Rs. 15,00,000. Current ratio 3.00 and liqudity ratio 1.25. 

Calculate current liabilities, liquid assets and stock. 
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